2.2.7 Décomposer en facteurs aprés avoir groupé.
a) -2y —a2® +2zy+ (z — 2y)?

b) 222 +3x—10xy — 15y

c) 3z —20y%z — 5z + 12 23y?

) (x- 2«3) = 1(1—23) + (- 23)2

= (gc~ 29) I -2 + (o~ Za)l = (- 29) (1~:C+ x-1y)
= (x-2)U-92y)

B ol 21 +3y) — 5Y (w 3y) = (’LUL+33> (Dc—sa)
¢) 3 +12’y — tpy'e -52 =
303 (1 4 4gt) — 52( 4yt +4) = (4+43L)(313— 52)

d) 8+ 2x+3y)(x —2y) — 62> + 12y — 9zy + (22 + 3y)?

= Qo +ay - (6o +925) + (ady)le-g) + (axey)’

= 4 (0a+39) - 3o ( 200239+ (20t 2y)l-29) + ba¢%y)"
(21*33>(q —2%% + 5[—23 -&_Z‘_:g —1—35)
= (Zot—t?sa)(% ty)

y
~27 37§ = %(Lx%-Sx—t—L{ée—?a)

i
-f(l (32(2% —1) + 23(22——4)) 22- 1) Sa+?;)
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